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() = y0) + [ PG (a(s).y(s))ds

0
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00 X(¢)0OOOOO0OO00O0t—o000 ePlyt)—0. 0000

y(0) = —/ e_ﬁsG(x(s),y(s))ds
0
DDDDDDDDDDDD(3.2.15)DDDDDD Il
Ae[0,a] 0000X:[0,00) »R>20000

1X1[x = sup M|X(2)]

te[0,00)
D00000Oz,eRO0O0O
Uz, = {X]X 1 [0,00) = R%, X(t) = (2(t), y(1)), [| X]|x < 2|0, 2(0) = xo}
O000X,Y €eU) 0000 Dy(X,Y) =X -Y|, DO0O0ODA\X,Y)

0 Y2 0000000
00 R>000000000000 R<Ry/200

T L)
¢<L+g1R)-+(i?)fF<2

D00000D0000000000 ROOO R<R3y/200 (3.2.16) 00
Dooooooo
0<|zol <ROODOXelY) 0ODOOO

(3.2.16)

o (X)(8) = €%y + €70 / e F (X (s))ds
U ()0 =~ [ PG (s

000000000 $,(X)(t) = (day (X)(1), 00 (X)(¢)) DO D00
000 Ae{0,0} 00000000 U CU’ 0000

(3.2.17)

00 3.2.10. [z < RODODODO
(1) A=0,0 0000000 Xel, 00000%,,(X)eU). 0000
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(2) ¢,(X)=X0000 ¢ 00 X000O0D0O0O00000 X O X,
D000X.(t) = (2.(t),(t) 0000 X, eU? 00X, 0 (328) 0 t=0
0000 (z,5(0) 000 [0,00) 0000000000000 ¢>00
2. (t)] > |y.(t)], |z.(¢)] 00000 DO de,/dt 0,

1 3
3¢ “lzol < [ ()] < 5ol (3.2.18)
00 »
()] < 71(6“”‘t|:60|)2 (3.2.19)

O00.A=0,a0000
Step 1: A=0,0, X,Y €Uy 0000

1
1820(X) = @0y (V)1x < 511X = V1l (3.2.20)

Step1 00O

e_o‘t/o e*(F(X(s)) — F(Y(s))ds

< 016_‘”/0 el X (5) — Y (5)|e™(1X (s)] + [V (s)])ds

|6—2)\t . —Xt

6—at e
< X X+ 1Y) < ol )X Yl

oot /t T e (G(X(s)) - GV (s)))ds

< Cre” / e” TN X (5) — Y ()| (|1 X (5)| + Y ()])ds
t
—2\t —2At

(& (&
<G [1X = YIW(IXx + 1Y 15) < 4laolCy

X-Y
<o 1X =Yl

gooo

T 1
My (X)(t) = P (V) (£)] < 4C1 0] 2t @HX — Yl
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(3.2.16) 00O (3.220) 0000 O
Step 2: A=0,0, X €U OO0 O, (X) €U,
Step2000 Stepl D0O0O00O0D0DDOO0

t —2Xt _ —at e
e=ot / e (X (s))ds| < (1L X < 2 e (3.2.21)
0 (6
Bt OO —Bs 1 —2)t 2 4Cl 2 _—2Xt
e e PG(X(s))ds| < Cr=e || X||5 < —lzole (3.2.22)
t B 5
00O

MO < ool (1 4+ 2 o), X (X) ()] < 2o

(3.2.16) 0O

4C 2 40\ 2
[P (X)[x < !xol\/ + —1|£l:0| (#) o2 < 2|zo]  (3.2.23)

000 @, (X) €Uy, O
Step 1, Step2 00 ¢ 0 Y2 00000 D0O0O0DO0OOO0O

Step 3: ®,,(X.)=X. 0000 X,eys 000000

Step 3000 Xo=(e2,0) 00000000 X,y = &, (X,,) 0O O
O000On<mO000(3.2.20) 00

m—1
[1X0m = Xallx < 3 ([ X1 — X||A<Z2‘Z||X1 Xollx = 27" X1 — Xol|a

i=n i=n

0000 ¢>00 {Xpu(t)}mso O Cauchy 0000000000 X, (¢) 00
0ooo
1 = Xy < 277X — Xol|a

00 n—ool0 {Xp}eo 0 X, 0OODDOOODOO00 n— o000 || X, —
|X||0000D00X, elyy 000 &(X,)=X, 00000 O
Step 4: ¢,(X)=X0000 Xe? 000000000

Step4 000 00 X, YeU, O &,(X)=X00 &,(Y)=Y O000
0 (32:20) OO [|X = Y[y = [|@4,(X) = 0,(V)[[x < [|X = Y|lx/2. DO O
I X-Y|L,=0.000 X=Y. O
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00 U2 Cul 00000 Step 300000 X, ey 0 U 0000
d,,(X.) = X,. Step4DDX€L{£0D(DIO(X):XDDDDDDD
X, 000000000000 X.(t) = (z.(t),y() 000000000
DO000X, € U2 00 |z.(t)] < 2ezo) DOOODOOR < Ry/2 00
X, :[0,00) — B(0,Rs) DO OO X, O

7,(t) = e xo + e_"t/o e F(x.(s),ys(s))ds
y,(t) = —e? /too e P G(.(s), y.(s))ds

000000 (328)DDDDDDDD 328000000 ¢>00 |z,(t)] >
lv.(t)) D000 42, #4000 |2()| 00000000000

(3.2.24)

F(t) = et /0 €9 P (X, (5))ds

0000000 (32.16) 0004C,R/a<1/2. 000 (3221)0 A=a O
0ooo

4C a ol _,
[F(8)] < —aol’e t§|70|e g

000 z.(t) = ez + F(t) 00000 (3.2.18)
-« 3 -
3¢ “lzol < [ ()] < S0l
0 te(0,00)00000000 (3222)0 A=a00000

4C,

[y ()] < e 5l ~RJ?

/t G (s))ds| <

000 (32190000 0

00 %25000.p=+RO00000 32100000 (IDP(X*):X*D
000 X, € U DO0O0X.(t) = (2.(t),y(t) 00DDX, O (328 O
00000000000 ¢ > 00 |e() > |p@) 0000 xﬂéom

%)) 000000000%# 0 (1 00000000000000
000 z,:[0,00) — [0,R] 0000 ¢:[0,R] — (0,00) 0 C' 00000
o(r) =5.(S(x)) 0000000z4000 0 C*O0O0O00O0

d_SO dy* dl’* . By« —i—G(x*,y*)
de  dt/ dt ~ —ax, + F (4, s)
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000000000 p(0)=0000000

Z—i(()) =00000 (3.2.18)0 (3.2.19) 00O

)| | ws(t)

— 801 efatR
x4 (t)

B

7, —0et—-000 ¢02z=000000000 %2(0)=0.
t=00 dp/dz 00000000: (32.14) 0 (3.218) 000

’w(l’

\ <

d:v*

—| |_
0000 3260 (3.219) 00

dys
dt

< Blyl+ Ci((z.)* + (1)) < ce ™R

goo

/ —at

| _ ‘dy*/d:r*

0000 x—00 d@/dxHODDDD

O00|x| <ROOOOOOOO000 t>00 z.(ty) =2 0000
000 X(t:x) = Xu(t —to), x(t:xo) = xu(t —to),y(t : o) = x4(t — o) O
D00000X(t:20) 0 ¢t=00000 (z0,¢(x) 000 (3.2.8) O [0,00)
000000000000y(t: ) =e(z(t:2) 00000

X(t) : [0,00) = B(0,R) O sup,cpo)|X(t) < RODDOO (3.28) O
D0000X(t) = (z(t),yt), xo = x(0) 000000 328 00000
t€[0,00) 0 [2(0)] > |z(t)] > [y(t). OO0 [X(#)] < V2a(t)] < V2wl
000 Xeyd. 0032900 ¢X)=X00000O00O000 Y €Ul
0O¢Y)=YOD0OOO0OO0OO0OO0000000000 X(t:20)00D0ODDOOO
X(t) = X(t: ). O
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00 1.2:0,7)—R0O [0,7)000000000000 f:(0,7] >R, g:
0,7] RO [0,7)0000000000000 ¢te0,7)0000

f;"_f() (1) + (1)

000000000 F(t fo s)ds 000000000 telo,T]0O

t
z(t) < eFOz(0) + / eF'O=FE) g(5)ds
0

gooboogobood
gb. boooggbobobodgo

%(e_F(t)x(t)> = G_F(t)d_x — B_F(t)f(t)w(t) < e—F(t)g(t)

goagd .
e_F(t)x(t)—x(O)g/ e F®g(s)ds
0
gogodoooooobbbooooo [
00 2.2 = (z1,22) € R2 0000 20 Eucid 0000 |z O |2] =

V@2 (122000000 ||-||0 R2O000000000-,0 |-
000000000000

gb. 00 215000 [l

00 3. LN) = {f|f: N =R, Y, |f(i)] <oc} DODfe LX(N)DOD
0 Ifll = S [ 000 DDT
(1) ||-]|0 IAN) 0000000000000
(2) fEILMNN)OODDOD Af:N—-ROOOO neNODOO (Af)(n) =
fn+1)0000000 Af e LY(N)O0OOD0A: LYN) — LYN) 0O OO
0000000000000000 A0ODOO0OD ||Allpey 00000
0o
3) fel(N)ODODODDOOO neNOOODO

tAf iﬂ

m)!

m=0

n—l—m

gbooboooobood
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0o. (1)

1f+gll =D 1£@) + 9@ < D 1O +1g@] < 1FI+ 1]l
1€EN 1€EN

O0O000000000000
(2)

Do IAN@I=Y_1r@1 < Ifll

1EN 1>2
00 Af e LMN) O |JAfll < [Ifll. a=00000 ||Af||=If| 0000
OO0 [Allp ey =1.
3) (A"f)(n)=f(n+m) 0000 f =3 WA fOD O

OO0 4. e, bc00000000O00OO0O0O

P N d?x N bdm N 0

dt3 dt? dt
00000000000 o,40000 z(t) =e(a+4) 00000000
gooogogg

00.y=%=%p00000

d T 0 1 0 T
2 —c —b —a z

0030300000 A0D00000000 2(t)=e¢*(a+4t) 0000
00000AD -10000000000000 ADDODOOO (A+1)3

O000 a=3,b=3,c=1000000000A00D0O0 1000000
s

O00 (—-s | DO0OD00O0OD0O 1.000 A0 Jordan OO0OO
s

000000000000 e 0000000000000000000 [
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00 5. f:RP—-ROR*0O C?0000000000 0=(0,0)0000
gooo

dr  Of

Yoy
at oz Y

Dboboobooboob obbobbobooboon

2 2 2
00.00000000000a=54(0),b=%4(0),c=53£0) 00000

()= ) 0)

N —a®>—bc=0

00 a®>+bc>0000000000a®>+bc=000 00a®>+bc<0000
gbobbooooobbodoodn [l

006 f:R2—>RO R0 C20000000000 0=(0,000000
0ooo

gboobogg

dv  Of

E_%(xay)
YW ey
dt Oy Y

0000000000000 00000000 f(e,y) D OOODODODOOO
gooogd

2 2 2
00.00000000000a=840),b=54(0),c=540)00000

£0-6)0)

A—a)(A—c)—b*=0

Ooooooooobooon
U0 « 000000000000« 0000

gbobobodo

ax® + 2bzy + cy?
0000 = f(xz,y) D OODOOOOOO ]
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OO0 v.00000000O0O00DOO0DOODbO0OD

dr _
dt
dy
dt

(1) 00 0=(0,0000000000000000000
(2) 000000000O0O0O0O0O000

—X

—y—:v

00. (1) 000000O0O0O0O0OO0O0O0O0 1,-1
(2) 0000000

(x0)36—3t

DDDDDDDDDDyzaa 0

U0 8. uogdobboogoboobouooooboo

2—?:903—x
(1) 000000000 00O0OOO0O0OD0DODOUOooooOooOOO
(2) 0<2p<10000t=00000 200000 z()0000x(t) O
0,7)00000000000000000 tel0,7)0 «(t) € (0,z0) OO
00 a=(1— (2)2) 0000D02() < —ax(t) 00DO0000DO00D
(3) 0<2p<10000t=00000 20000 z(t) 0 [0,00) 000
00 lim 2(t)=0000000000
O00. (1) obooO0 z=-1,0,1. —1,1 000000000000
(2) () 000 te0,T)0 x(t) >0
() 0000000 ¢t0 2,()=000002, 00000000 .0 (t.) =0
D000O00x(t) = «(t) 0000t =+ 0 00000000000
z(t) =z, () 0000 2(0) =20 >0000
(i) 000 te[0,7) 0 0<x(t) < xo.
() 000000 T, € (0,7) 0 o(T.) > 2o 00 00T, = inf{t|t € [0,T), z(t) >
2} 00002(0) =20 <10 () 000000 T, >00(1) 00 0<t<T,
O z(t) € (0,z0) OO OO0 (t) = z(t)(z(t)*—1) <00000 [0,77) 00 x(t)
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000000000(T) < <10 000 2(T}) =2, 00000000
00 te€[0,7)0 z(t) < zo0
(i), () 00000 te(0,7] 0 (t) € (0,2). 00 z € (0,2] D000

r(2? —1) < —ax

3) T<+ooOOOOOt1TOOO0O0O0D0O0D0D0D0D0D0DO(®R) 00000
€ [0,7) 0 (t)E(O,xO].DDD T=oc0 (200 £ < —az. 0000
(e*2z)<0. 00000

—~

&l

2(t) < e g

000 0<a(t) <e zo. 000 limy o z(t) = 0.
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